o8

@ 3.141592 = F5tageoltt,

og]27} o)



g % x = 1.24242424 - o] T A

ol
lo
f
8o
R

12402 Jepd 4= Qi

&gt = 24 o},

@ ® ©@ ® ©

B 41 o
=2 HEUE ool

100x — 10x 2 o]-&5}o] B=g 1}epd 2= 9l},



tol& ), 21 237} o

S

e AL 270

3.

)+

7T - =

@ (4-5x+6x%)—3(2x% +3x—4)
1
x x

A~

(o]

=
PRl o
a9, | 2%

= M
+ |
= |
S 5 V_A
+(_\ —
M_u\ | (_\
| /N

© N
R -
koL 4
+ 8 =
=  + I
Tow oy
+ — | <H AN
WO~



1 1 3 4
4. (§x2—§x—1)—(§x2—§x+2):ax2+bx+c°ﬂ/“]a+b+c9]

gre oty

@D -5 ® -3 3 -1 @ 1 B 3



2 &Tad 673522 BrE Lehls el (@) ~ (@)l
4: L 7] o}

x=6.73522 E£OMH x = 6.7352352---9

ol el [ (@) ] & Bote

(@) |x=67352. 352352 .©

@l Fa[ (@) | Fote

(@) x—67352352
C-©g3H | (@ \x=\ @) |

Lox=| (@)

@ (@) 10000 @ (@) 10 ® (@) 9999
13457

@ (@) 67285 ® (@) ———

9999



6. x=3452 4 o, 103x - 10x 9] t-&?

@D 3413 ® 3414 ® 3415 @ 3417 (B 3418



